Tell whether the following assertions are T or F. Explain in 6 lines.
1. A decline in population may lead to a decline in investment.

2. The proportion of an investment financed from a company own funds is an indication creditors more confident is an indication to banks creditors that investment 

3. Firms attempt to have a rate of utilization of 100%
4. Consider the static model of our lectures and start at full-employment. According to the Keynesian view of the economy, an exogenous decline in investment will be promptly offset by a quick reaction of monetary policy.

5. Consider the static model of our lectures and start at full-employment. According to the Keynesian view of the economy, An exogenous decline in investment will lead to successive declines in AD, output and saving.
6. Consider the circular flow of expenditure-production-income of the static model of our lectures. According to the Central Bank view of the economy, an increase in saving leads to reduction in output.

7.  Consider the circular flow of expenditure-production-income of the static model of our lectures. According to the Keynesian view of the economy, an increase in saving leads to a change in the composition of output in terms of consumption goods and investment goods.

8. Consider the Kaleckian open economy model, with imports and tax revenues dependent on aggregate income. In this model, the value of profits is determined by, and equal to, the value of capitalists’ expenditures.

9. Consider the Kaleckian open economy model without government and without imports. The MPC out of profits is zero. In this model, an increase in exports equal to 100$ leads to an increase in output equal to $100.

10. Consider the Kaleckian closed economy model with government but without taxes. The MPC out of profits is zero. In this model, government expenditure leads to profits both in the sector that produces goods for the government and in the sector of luxury consumption goods.
11. The marginal propensity to consume out of profits is bigger than the average propensity to consume out of profits.

12. The Post-Keynesian dynamic model’s account of expansions can be summarized as follows: an increase in utilization in period t leads to an increase in investment in period t+1, which leads to a new increase in utilization in period t+1, and so on.

13. Consider the Post-Keynesian dynamic model. As an expansion carries on, the effect of increases in investment on utilization become smaller and smaller, and eventually turn negative.

14. In the context of the Post-Keynesian dynamic model, assume that replacement investment is fixed at $500, the multiplier is 2 and the productivity of capital is 1/5. If gross investment rises from $500 to $520, what will happen to utilization?

15. Indicate the three reasons why the marginal propensity to consume out of wage income is higher than the marginal propensity to consume out of profit income. 

…
1.In a dynamic PK model, an increase in the autonomous saving of capitalists leads to a decline in the contemporaneous CB’s interest rates (in case these are positive).

2. Consider Minsky. The rising investment during expansions leads to increases in the return of businesses’ equity and even more in the return of businesses’ assets. The reason is that rising investment leads to rising aggregate demand.

3. If the level of aggregate demand is below the production capacity, it determines the level of production which, in turn, determines the income that is distributed.

25. Minsky’s explanation of recessions does not use the idea that the interest rate tends to rise towards the end of expansions.

26. The paradox of thrift does not hold in the PK dynamic model.

27. The paradox of profits does not hold in the PK dynamic model.
